
0

0.5

1

1.5

2

2.5

3

Follicular phase Luteal phase

0

0.5

1

1.5

2

2.5

3

Follicular phase Luteal phase

0

500

1000

1500

2000

2500

3000

3500

Follicular phase Luteal phase

p = 0.227 p = 0.422

Sustained CSC (n = 25)

Non-CSC (n = 8)RHI

p = 0.042 p = 0.053

LF/HF

p = 0.067 p = 0.022

HF

Figure 1

Sustained CSC (n = 25)

Non-CSC (n = 8)

Sustained CSC (n = 25)

Non-CSC (n = 8)

A

B

C

msec2



0

0.5

1

1.5

2

2.5

3

Follicular phase Luteal phase

0

500

1000

1500

2000

2500

Follicular phase Luteal phase

0

0.5

1

1.5

2

2.5

3

Follicular phase Luteal phase

Figure 2

A

B

C

p = 0.045 p = 0.071

aged < 40 years  (n = 15)

aged ≥ 40 years (n = 10) RHI

p = 0.464 p = 0.647

LF/HF

p = 0.045 p = 0.003

HF
msec2

aged < 40 years  (n = 15)

aged ≥ 40 years  (n = 10) 

aged < 40 years  (n = 15)

aged ≥ 40 years  (n = 10) 


